Efficiency vs dr

1.2

efficiency vs AR
=

0.6f

0.4

Ratio

0.8

—— DQM_V0001_R000000001__Global

I T I00 il Il
_V0001_R0O00000001__Global _CKF__RECO
—— DQM_V0001_R000000001__Global__mkFitl_RECO
mKFit2__RECO

IIIII: T II |’ I
N
0

§ 0.5
Q70.45
£
o
T 04
20.35
3
8 03
[}
o
20.25
()
0.2
0.15
0.1
0.05
o 0
I
o
1
0.95
107

Efficiency vs pu

0.5
0.45

0.35

efficiency vs PU
o
D

o
w

0.25
0.2
0.15
0.1
0.05]

...................................

............................................

Ratio

40 60 80 100 120 140
Pileup



	Contents
	Page 1


